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CLASSIFICATION TYPE QUESTIONS 

This type consists of questions in which certain items 

belonging to different groups or processing different 

qualities are given along with some clues with the help of 

which the candidates is required to group and analyse 

the given items and answer the questions accordingly. 

Ex.1. Study the following information carefully and 

answer the given questions: 

B and E are good in Dramatics and Computer Science. 

A & B  are good in Computer Science and Physics. 

A, D and C are good in Physics and History. 

C and A are good in Physics and Mathematics. 

D and E are good in History and Dramatics. 

 

1.Who is good in Physics, History and Dramatics? 

a) A   

b) B 

c) D   

d) E 

 

2. Who is good in Physics, History and Mathematics, but 

not in Computer Science? 

a) A   

b) B 

c) C   

d) D 

 

3. Who is good in Computer Science, History and 

Dramatics? 

a) A   

b) B 

c) C   

d) E 

 

4. Who is good in History, Physics, Computer Science and 

Mathematics? 

a) A   

b) B 

c) C   

d) D 

 

5. Who is good Physics, Dramatics and Computer 

Science? 

a) A   

b) B 

c) D   

d) E 

Ex. 2. Read the following information carefully and 

answer the questions that follow: 

Five friends P, Q, R, S and T travelled to five different 

cities of Chennai, Kolkata, Delhi, Bangalore, and 

Hyderabad by different modes of transport of Bus, Train, 

Aero plane, Car and Boat from Mumbai. The person who 

travelled to Delhi did not travel by boat. R went to 

Bangalore by car and Q went to Kolkata by aero plane. S 

travelled by boat whereas T travelled by train. Mumbai is 

not connected by bus to Delhi and Chennai. 

 

1.Which of the following combinations of person and 

mode is not correct? 

a) P – Bus   

b) Q – Aero plane 

c) R – Car   

d) S – Boat 

e) T – Aero plane 

 

2. Which is the following combinations is true for S? 

a) Delhi – Bus   

b) Chennai – Bus 

c) Chennai – Boat  

d) Data inadequate 

e) None of these 

 

3. Which of the following combinations of place and 

mode is not correct? 

a) Delhi – Bus  

b) Kolkata – Aero plane 

c) Bangalore – Car  

d) Chennai – Boat 

e) Hyderabad – Bus 

 

4. The person travelling to Delhi went by which of the 

following modes? 

a) Bus    

b) Train 

c) Aero plane   

d) Car 

e) Boat 

5. Who among the following travelled to Delhi? 

a) R    

b) S 

c) T    

d) Data inadequate 

e) None of these 
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Ex. 3. Read the following information carefully and 

answer the questions given below it: 

There are six persons A, B, C, D, E and F in a school. Each 

of the teachers teaches two subjects, one compulsory 

subject and the other optional subject. D’s optional 

subject was History while three others have it as 

compulsory subject. E and F have Physics is one of their 

subjects. F’s compulsory subject is Mathematics which is 

an optional subject of both C and E. History and English 

are A’s subjects but in terms of compulsory and optional 

subjects, they are just reverse of those of D’s. Chemistry 

is an optional subject of only one of them. The only 

female teacher in the school has English as her 

compulsory subject. 

 

1.What is C’s compulsory subject? 

a) History   

b) Physics 

c) Chemistry   

d) English 

e) Mathematics 

 

2. Who is a female member in the group? 

a) A   

b) B   

c) C 

d) D   

e) E 

 

3. Which of the following has same compulsory and 

which is the optional subject, who has the same two 

subject combination as F? 

a) D   

b) B    

c) A  

d) C   

e) None of these 

 

4. Disregarding which is the compulsory, and which is 

the optional subject, who has the same two subject 

combination of F? 

a) A   

b) B   

c) E 

d) D   

e) None of these 

 

5. Which of the following groups has History as the 

compulsory subject? 

a) A, C,D  

b) B, C, D  

c) C, D 

d) A, B, C  

e) A, D 

 

Ex 4. Study the following information carefully and 

answer the given questions: 

B, M, T, R, K, H and D are travelling in a train 

compartment with III-tier sleeper berth. Each of them 

has a different profession of Engineer, Doctor, Architect, 

Pharmacist, Lawyer, Journalist and Pathologist. They 

occupied two lower berths, three middle berths and two 

upper berths. B, the Engineer, is not on the upper berth. 

The Architect is the only other person who occupies the 

same type of berth as that of B. M and H are not on the 

middle berth and their profession are Pathologist and 

Lawyer respectively. T is a pharmacist. D is neither a 

journalist nor an Architect. K occupies the same type of 

berth as that of the Doctor. 

 

1.Who is the Architect? 

a) D   

b) H   

c) R 

d) Data inadequate   

e) None of these 

 

2. What is D’s profession? 

a) Pharmacist  

b) Lawyer  

c) Doctor   

d) Engineer 

e) Data inadequate 

 

3. Which of the following pairs occupy the lower berth? 

a) BT   

b) BD 

c) BK   

d) Data inadequate 

e) None of these 

 

4. Which of the following groups occupies the middle 

berth? 

a) DKT  
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b) HKT  

c) DKR  

d) DHT 

e) None of these 

 

5. Which of the following combinations of person-berth-

profession-is correct? 

a) K-Upper-Lawyer 

b) D-Upper-Doctor 

c) M-Lower-Journalist 

d) R-Lower-Architect 

e) All correct 

 

Ex. 5 Study the following information carefully and 

answer the questions given below: 

i) Eight persons A, B, C, D, E. F, G and H work in three 

different companies X, Y and Z. 

ii) There are two ladies who work in different 

companies and their specializations are also 

different. 

iii) Two of them have specialization in Finance, another 

two have specialization in Human Resource, two 

have specialization in Marketing, one is engineer 

and one of them is specialist in Computer. 

iv) D is a specialist in Human Resource working in 

company X while her friend G is a Finance specialist 

and works in company Z. 

v) H is a Human Resource specialist who works with 

Marketing specialist B but does not work in 

company Y.  

vi) The two persons with same specialization do not 

work together. 

vii) Marketing specialist F works in company Y and his 

friend A who is Finance specialist works in 

Company X with only one other specialist. 

viii) In no company more than three person’s work. 

ix) C is an engineer, and his sister works in Company Z. 

x) No lady is an engineer or Computer specialist 

 

1. In which company does C work? 

a) X    

b) Y   

c) Z 

d) Either Y or Z   

e) None of these 

 

2. In which two companies do Human Resource 

specialists work? 

a) X and Y   

b) Y and Z 

c) X and Z   

d) Data inadequate 

e) None of these 

 

3. The two ladies are  

a) B and D   

b) D and G 

c) D and H   

d) Either (a) or (b) 

e) Data inadequate 

 

4. Who is computer specialist? 

a) C   

b) E   

c) H 

d) data inadequate  

e) None of these 

 

COMPARISON TYPE QUESTIONS 

Ex. 1. Read the following information and answer the 

questions given below it : 

Alka is older than Mala. Gopal is older than Mala but 

younger than Alka. Kapil is younger than Ram and Mala. 

Mala is older than Ram. 

 

1.Whose age is between Gopal and Ram? 

a) Mala   

b) Kapil   

c) Alka   

d) None of these 

 

2. Whose age is between Mala and Kapil ? 

a) Gopal   

b) Ram 

c) Alka   

d) None of these 

 

3. Whose age is exactly in the middle of all the five? 

a) Mala   

b) Gopal 

c) Ram   
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d) Alka 

4. Who is the eldest? 

a) Alka   

b) Mala 

c) Kapil   

d) Gopal 

 

5. Who is the youngest? 

a)  Mala   

b) Ram 

c) Alka   

d) Kapil 

 

Ex. 2. Read the following information and answer the 

questions that given below: 

i) There is a group of five girls. 

ii) Kamini is second in height but younger than Reena. 

iii) Pooja is taller than Monika but younger in age.  

iv) Reena and Monika are of the same age but Reena is 

taller between them. 

v) Neelam is taller than Pooja and elder to Reena. 

vi) Kamini is not the youngest in the group. 

 

1. If the girls are arranged in the ascending order of 

heights, who will be in third position? 

a) Monika   

b) Reena  

c) Monika or Reena  

d) Data inadequate 

e) none of these 

 

2. If they are arranged in the descending order of their 

ages, who will be in fourth position? 

a) Monika or Reena   

b) Kamini 

c) Monika   

d) Data inadequate  

e) none of these 

 

3. To answer the question “who is the eldest person in 

the group”, which of the given statements in 

superfluous? 

a) Only i)   

b) Only ii) 

c) Only vi)   

d) Either i) or iv) 

e) none of these 

Ex. 3. Read the following information carefully and 

answer the questions given below: 

B, D, P, M, F, H, K and W are eight friends who have 

completed their MBA programmed with specialization – 

Marketing, Personnel, Operations, System and Finance. 

Three of them have passed with dual specialization. 

Operations and Systems were not offered as dual 

specialization with any of the remaining three 

specialization. P has passed with Marketing and Finance 

and earns the least. B has passed with Operations and 

earns more than F, D and K. W has passed with 

Personnel and earns less than only M who has passed 

with a dual specialization. B is third from the top when 

they are of them have same earning. K, who earns more 

than H, has passed with Marketing whereas H has passed 

with dual specialization. Two of them are having System 

specialization. 

 

1.Which of the following pairs has the Systems 

specialization? 

a) BF   

b) BM   

c) FH 

d) data inadequate  

e) none of these 

 

2. Who among them earns more than F? 

a) Only M and B  

b) Only M, W and D 

c) Only M and W  

d) Only W, B and D 

e) none of these 

 

3. Who among them earns more than only P? 

a) Only H   

b) Only M 

c) Only W   

d) Data inadequate 

e) none of these 

4. Which of the following specialization is opted for most 

among them as either single or one of the dual 

specialization ? 

a) Marketing   

b) Pesonnel 

c) System   

d) Finance 
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e) none of these 

5. Which of the following dual specialization is applicable 

to M ? 

a) Personnel, Marketing 

b) Marketing, Finance 

c) Personnel, Finance 

d) Data inadequate 

e) none of these 

 

SEQUENTIAL ORDER OF THINGS 

Ex. 1. Read the following information carefully to answer 

the given questions: 

Six films – P, Q, R, S, T and U – are to be released on 

consecutive Fridays. The schedule of the release is to be 

in accordance with the following conditions: 

i) P must be released a week before T. 

ii) R must not be released immediately after the first 

release. 

iii) Q must be released on the Friday following the 

Friday on which U is released 

iv) S must be released on fifth Friday and should not be 

immediately preceded by Q  

v) T must not be released in the last. 

1.Which of the following films preceded T? 

a) P    

b) Q 

c) S    

d) U 

 

2. Which of the following films released 

immediately after Q? 

a) P    

b) R 

c) T    

d) U 

 

3. Film R cannot be released on which of the following 

Fridays in addition to second Friday? 

a) First     

b) Third 

c) Fourth     

d) Fifth 

 

4. In between which of the two films S is to be released? 

a) Q and T   

b) R and T 

c) P and T   

d) T and U 

 

5. Which of the following films released first? 

a) P   

b) Q 

c) R   

d) U 

 

Ex. 2. Read the following information carefully and 

answer the questions given below it : 

i) Eight doctors P, Q, R, S, T, U, V and W visit a 

charitable dispensary every day except on a holiday 

i.e., Monday. 

ii) Each doctor visits for one hour from Tuesday to 

Sunday, except Saturday. The timings are 9.a.m to 

1.p.m. and 2.p.m and 6.p.m; 1.p.m to 2.p.m is lunch 

break. 

iii) On Saturday, it is open in the morning i.e., 9.a m to 

1.p.m. and each doctor visit for only half an hour. 

iv) No other doctor visit the dispensary before doctor Q 

and after doctor U.  

v) Doctor W comes immediately after lunch break and 

is followed by R. 

vi) S comes in the same order as P in the afternoon 

session. 

 

1.Doctor P visits in between which of the following pairs 

of doctors? 

a) S and V   

b) U and W 

c) R and W   

d) R and U 

e) None of these 

 

2.At what time the visit of doctor R is over on Sunday? 

a) 1.p.m   

b) 3.p.m 

c) 4.p.m   

d) 5.p.m 

e) none of these 

 

3. At what time the visit of doctor T would be over on 

Saturday? 

a) 10.a.m   
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b) 11.a.m  

c) Either 10.a.m  or 11.a.m 

d)Data inadequate 

e) none of these 

 

4. If the lunch break and subsequent visiting hours are 

reduced by 15 minutes, at what time doctor U is 

expected to attend the dispensary? 

a) 3.15.p.m   

b) 4.p.m  

c) 4.15.p.m   

d) 4.45.p.m 

e) none of these 

 

Ex. 3. Study the following information carefully to 

answer the question given below: 

P, Q, R, S, T, U and V are seven professors. Each one 

teaches a different subject from Physics, Chemistry, 

Biology, English, Mathematics, Economics and 

Geography, not necessarily in the same order. Each of 

them teaches one day each on seven days of the week 

from Monday to Sunday not necessarily in the same 

order. R teaches Biology on Friday. Q teaches 

Mathematics on the previous day of the day on which 

professor teaches Physics. V teaches on Sunday but does 

not teach Chemistry or English. S teaches Economics on 

the previous day on which U teaches. P teaches 

Geography on Tuesday. T does not teach English. 

1.Which subject does T teach? 

a) Chemistry   

b) Physics 

c) Either Chemistry or Physics 

d) Data inadequate 

e) none of these 

 

2. Which subject does U teach? 

a) Physics   

b) English 

c) Either Physics or English 

d) Data inadequate 

e) none of these 

 

3. On which day does T teach? 

a) Monday   

b) Wednesday  

c) Thursday   

d) Data inadequate 

e) none of these 

 

4. On which day does U teach? 

a) Wednesday   

b) Thursday  

c) Wednesday or Thursday 

d) Data inadequate 

e) none of these 

 

5. Which subject does V teach? 

a) Chemistry   

b) Thursday 

c) Wednesday or Thursday 

d) Data inadequate 

e) none of these 

 

selection Based on given Conditions. 

Directions (Questions 1 to 5) : Study the following 

information carefully and answer the question that 

follow  

A team of five is to be selected from amongst five boys A, 

B, C, D and E and four girls P, Q,  R and S. Some criteria 

for selection are : 

A and S have to be together. 

P cannot be put with R. 

D and Q cannot go together. 

C and E have to be together. 

R cannot be put with B. 

Unless otherwise stated, these criteria are applicable to 

all the questions below. 

 

1. If two of the members have to be boys, they will 

consist of  

a) A, B, S, P, Q 

b) A, D, S, Q, R 

c) B, D, S, R, Q 

d) C, E, S, P, Q 

 

2. If R be one of the members, the other members of the 

team are 

a) P, S, A, D 

b) Q, S, A, D 

c) Q, S, C, E 

d) S, A, C, E 
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3. If two of the members are girls and D is one of the 

members, the members of the team other than D are: 

a) P, Q, B, C  b) P, Q, C, E 

c) P, S, A, B  d) P, S, C, E 

 

4. If A and C are members, the other members of the 

team cannot be 

a) B, E, S  b) D, E, S 

c) E, S, P   d) P, Q, E 

 

5. If including P at least three members are girls, the 

members of the team other than? 

a) Q, S, A, B  b) Q, S, B, D 

c) Q, S, B, D  d) R, S, A, D 

 

 

Directions (Questions 6 to 10) : These questions are 

based on the following information : 

From time to time, the Managing Director of a Company 

appoints Planning Committees, each consisting of exactly 

three members. Eligible for appointment are three 

executives from Finance B, C, D and three executives 

from Operations – E, F and M 

Any given committee is subject to the following 

restrictions on appointments: 

i) At least one member must be from Finance, and at 

least one member must be from Operations. 

ii) If B is appointed, C cannot be appointed 

iii) Neither D nor F can be appointed unless the other is 

also appointed 

iv) If E appointed, M must be appointed 

 

6. Which of the following is an acceptable committee? 

a) E, F and M   

b) D, E and F 

c) D, F and M   

d) B, D and M 

 

7. If appointees from Operations are in majority in a 

committee, that committee must include 

a) M   

b) F 

c) E   

d) C 

 

8. If the restrictions on appointments apply also a four-

member committee appointed from the same group of 

executive, which of the following will be true ? 

a) If B is appointed, M must also be appointed 

b) If F is appointed, C must also be appointed 

c) If C is appointed, E must also be appointed 

d) none of the above will be true  

 

9. If B is appointed to the same committee as M, which of 

the following will be true of that committee ? 

a) E is not a committee member 

b) F is a committee member 

c) Appointees from Finance are in majority 

d) Appointees from Operations are in majority 

 

10. If appointees from Finance are in majority on a 

committee, that committee must include  

a) B   

b)  C 

c) F   

d) M    

 

Directions (Questions 11 to 15) : Read the following 

information carefully and  answer the questions given 

below it : 

There are five men A, B, C, D and E six women P, Q, R, S, T 

and U, A, B and R are advocates; C, D, P, Q and S are 

doctors and the rest are teachers. Some teams are to be 

selected from amongst these eleven persons subject to 

the following conditions : 

A, P and U have to be together 

B cannot go with D or R 

E and Q have to be together 

C and T have to be together 

D and P cannot go together 

C cannot go with Q 

 

11. If the team is to consist of two male advocates, two 

lady doctors and one teacher, the members of the team 

are  

a) A, B, P, Q, U   

b) A, B, P, U, S 

c) A, P, R, S, U   

d) B, E, Q, R, S 

12. If the team is to consist of one advocate, two doctors, 

three teachers and C may not go with T, the members of 

the team are  
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a) A, E, P, Q,S, U   

b) A, E, Q, S, T, U 

c) B, E, Q, S, T, U  

d) E, Q, R, S, T, U 

13. If the team is to consist of one male advocate, one 

male doctor, one lady doctor and two teachers, the 

members of the team are  

a) A, C, P, T, U 

b) A, D, E, P, T 

c) A, D, E, P, U 

d) B, C, E, Q, U 

 

14. If the team is to consist of one advocate, three 

doctors and one male teacher, the members of the team 

are 

a) A, D, P, S, U 

b) C, D, R, S, T 

c) D, E, Q, R, S 

d) D, E, Q, R, T 

 

15. If the team is to consist of two advocate, two doctors, 

two teachers and not more than three ladies, the 

members of the team are  

a) A, B, C, P, T, U 

b) A, C, P, R, T, U 

c) A, E, P, Q, R, T 

d) B, C, E, Q, R, T 

Family Based  

Directions (Questions 1 to 5): Study the following 

information carefully and answer the questions given 

below: 

M, K, J, T, R, D and W are seven members of a family. 

There are two married couples among them belonging to 

two different generations. Each of them has a different 

choice of cuisine-Chinese, Continental, Thai, Punjabi, 

South Indian, Gujarati and Malwani. The grandfather in 

the family likes Gujarati food. None of the ladies likes 

Continental or Thai food. T is son of M, who likes Chinese 

food. W is J’s daughter-in-law, and she likes South Indian 

food. K is grandfather of D, who likes Punjabi food. J is 

mother of R, who likes Continental food. 

1.How is R related to D? 

a) Father   

b) Brother 

c) Uncle    

d) Data inadequate 

e) None of these 

 

2. How many male members are there in the family? 

a) 3    

b) 4 

c) 5    

d) Data inadequate 

e) None of these 

 

3. Which of the following groups contains one each from 

the three generations? 

a) JRT    

b) JRW 

c) MRD    

d) MWT 

e) None of these 

 

4. Which food does T like? 

a) Gujarati   

b) Thai 

c) Malwani   

d) Data inadequate 

e) None of these 

 

5. Which of the following combinations represents 

favorite food of the two married ladies? 

a) Malwani, South Indian  

b) South Indian, Punjabi 

c) Punjabi, Malwani 

d) Data inadequate 

e) None of these 

 

Directions (Questions 6 to 10) : Study the information 

given below and answer the questions that follow : 

There are five persons P, Q, R, S and T. One is football 

player, one is chess player and one is hockey player. P 

and S are unmarried ladies and do not participate in any 

game. None of the ladies plays chess or football. There is 

a married couple in which T is the husband. Q is the 

brother of R and is neither a chess player nor a hockey 

player. 

 

 

 

 

 



  

 
Copyright © All Rights Reserved | https://www.spardha.guru 

spardhaguru2022 Spardhaguru Current affairs 

SpardhaGuru Spardha.guru 

Spardhaguru1 
www.spardha.guru 

PUZZLES 

Page | 9 

6. Who is the football player? 

a) P  

b) Q  

c) R  

d) S  

e) T 

 

7. Who is the hockey player? 

a) P  

b) Q  

c) R  

d) S  

e) T 

 

8. Who is the chess player? 

a) P  

b) Q  

c) R  

d) S  

e) T 

 

9. Who is the wife of T? 

a) P  

b) Q  

c) R  

d) S  

e) None of these 

 

10. The three ladies are : 

a) P, Q, R  

b) Q, R, S  

c) P, Q, S 

d) P, R, S  

e) None of these 

 

Directions (Questions 11 to 15) : Study the following 

information carefully and answer the questions given 

below : 

P, Q, R, S, T, V and W are seven members of a family 

belonging to three generations. There are two married 

couples, one each of first and second generations 

respectively. They travel in three different cars X, Y and Z 

so that no car has more than three members and there is 

at least one female in each car. R, who is a 

granddaughter, does not travel with her grandfather and 

grandmother. Q travels with his father T in car Y. V 

travels with her granddaughter S in car X. P travels with 

her daughter in car Z 

 

11. In which car three members are travelling? 

a) X    

b) Y 

c) Z    

d) Either X or Y 

e) None of these 

 

12. How is W related to P? 

a) Mother-in-law  

b) Daughter 

c) Sister    

d) Data inadequate 

e) None of these 

 

13. How many female members are there in the family? 

a) Three   

b) Four 

c) Five    

d) Data inadequate 

e) None of these 

 

14. How is S related to T? 

a) Granddaughter  

b) Daughter 

c) Niece    

d) Data inadequate 

e) None of these 

 

15. Which of the following is one of the married couples? 

a) QR    

b) QS 

c) ST    

d) Data inadequate 

e) None of these 

 

Directions (Questions 16 to 20) : Read the following 

information carefully and answer the questions given 

below it : 

There is a family of six members A, B, C, D, E and F. 

There are two married couples in the family and the 

family members represent three generations. Each 

member has a distinct choice of color amongst green, 

yellow, black, red, white, and pink. No lady member likes 

either green or white. C, who likes black color, is the 
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daughter-in-law of E. B is brother of F and son of D and 

likes pink. A is grandmother of F and F does not like red. 

The husband has a choice of green color, his wife likes 

yellow. 

 

16. Which of the following is the colour preference of A? 

a) Red    

b) Yellow 

c) Either Red or Yellow  

d) Cannot be determined 

e) None of these 

 

17. How many male members are there in the family? 

a) Two    

b) Three 

c) Four    

d) Cannot be determined 

e) None of these 

 

18. Which of the following is true about F? 

a) Brother of B   

b) Sister of B 

c) Daughter of C   

d) Either sister or brother of B 

e) None of these 

 

19. Which of the following is the colour combination of 

one of the couples? 

a) Red-Yellow   

b) Yellow-Red 

c) Green-Black   

d) Red-Black 

e)None of these 

 

20. Which of the following is one of the married couples? 

a) AC    

b) CD 

c) DA    

d) Cannot be determined 

e) None of these 

Directions (Questions 21 to 25) : Read the following 

information and answer these questions on the basis of 

the information provided : 

i) There is a family of 5 persons- A, B, C, D and E. 

ii) They are working as a doctor, a teacher, a trader, a 

lawyer and a farmer. 

iii) B, an unmarried teacher, is the daughter of A. 

iv) E, a lawyer, is the brother of C. 

v) C is the husband of only married couple in the 

family. 

vi) A, a farmer, is a father of two sons and an 

unmarried daughter. 

vii) Daughter-in-law of A is a doctor 

21. Who is the doctor in the family? 

a) A    

b) B 

c) C    

d) D 

 

22. Which of the following is a group of male members in 

the family? 

a) A, B and C   

b) B and D 

c) A, C and E   

d) A, C and D 

 

23. Which of the following is a group of female members 

in the family? 

a) B and C   

b) B and D 

c) D and E   

d) A, C and E 

 

24. Which of the following is the married couple? 

a) AB    

b) AD 

c) BD    

d) CD 

 

25. Who is the trader in the family? 

a) A    

b) B 

c) C    

d) D 

 

SEATING/PLACING ARRANGEMENTS 
Easy Level 

Directions (Q.1-5) Read the following information and 
answer the questions given below: 
i. A, B, C, D, E, F and G are sitting along a circle facing at 
the centre and are playing cards. 
ii. E is the neighbour of A and D. 
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iii. G is not between F and C. 
iv. F is on the immediate right of A. 
 
1. Who are the neighbours of B?  
(1) C and D  
(2) F and C  
(3) A and F (4) Data inadequate 
(5) None of these 
 
2. Which pair given below has the second person sitting 
immediately to the right of the first? 
(1) CB  
(2) DG   
(3) EA  
(4) AB   
(5) None of these 
 
3. Which of the following has the person sitting adjacent 
to each other from left to right in order as given? 
(1) CDG  
(2) EDG  
(3) BGC  
(4) FBC  
(5) None of these 
 
4. What is the position of F? 
(1) To the immediate left of A  
(2) To the immediate right of B  
(3) 2nd to the right of C 
(4) 3rd to the left of D 
(5) None of these 
 
5. Which of the following does not have the pair sitting 
adjacent to each other? 
(1) BA   
(2) CB 
(3) DE   
(4) GD  
(5) All are sitting adjacent to each other 
 
Directions (Q. 6-11):Study the following information and 
answer the questions given below: 
M, N, P, R, T, W, F and H are sitting around a circle facing 
the centre. P is third to the left of M and second to the 
right of T. N is second to the right of P. R is second to the 
right of W, who is second to the right of M. F is not an 
immediate neighbour of P. 
6. Who is to the immediate right of P? 
1) H   
2) F  

3) R   
4) Data inadequate 
5) None of these 
 
7. Who is to the immediate right of H? 
1) R   
2) F  
3) M   
4) Data inadequate  
5) None of these 
 
8. Who is to the immediate left of R? 
1) P   
2) H  
3) W   
4) T  
5) Data inadequate 
 
9. Who is third to the right of H? 
1) T   
2) W  
3) R   
4) F  
5) Data inadequate 
 
10. Who is second to the right of F? 
1) M   
2) R  
3) T   
4) Data inadequate 
5) None of these 
 
11. In which of the following is the first person sitting in 
between the second and the third person? 
1) NHM  
2) PHN  
3) TRP   
4) TWF  
5) None of these 
 
Directions (Q. 12-16): Study the following information 
carefully to answer these questions. 
A, B, C, D, E, F, G and H are sitting around a circle facing 
the centre. F is third to the right of C and second to the 
left of H. D is not an immediate neighbour of C or H. E is 
on the immediate right of A, who is second to the right of 
G 
 
12. Who sits between G and D? 
1) H   
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2) D  
3) F   
4) E  
5) None of these 
 
13. Which of the following is the correct position of B 
with respect to H? 
I. Second to the right  
II. Fourth to the right 
III. Fourth to the left  
IV. Second to the left 
 
1) Only I   
2) Only II  
3) Only III   
4) Both II & III  
5) None of these 
 
14. Who is second to the left of C? 
1) A   
2) B  
3) E   
4) D  
5) None of these 
 
15. Which of the following pairs of persons has first 
person sitting to the right of the second person? 
1) CB   
2) AE  
3) FG   
4) HA  
5) DB 
16. Who is on the immediate right of C? 
l)  E   
2) B  
3) D   
4) B or D     
5) None of these 
 
Directions (Q. 17-21): Study the following information 
carefully to answer these questions. 
Ashwini, Priya, Sudha, Rani, Meeta, Geeta and Mukta are 
sitting around a circle facing the centre. Ashwini is third 
to the left of Mukta and to the immediate right of Rani. 
Priya is second to the left of Geeta, who is not an 
immediate neighbour of Meeta. 
 
17. Who is to the immediate right of Priya? 
1) Meeta   
2) Sudha   

3) Mukta  
4) Cannot be determined   
5) None of these 
 
18. Who is second to the left of Rani? 
1) Ashwini   
2) Meeta  
3) Priya   
4) Sudha 
5) None of these 
 
19. Which of the following pairs of persons has the first 
person sitting to the immediate left of the second 
person? 
1) Rani-Meeta   
2) Ashwini-Geeta 
3) Sudha-Priya   
4) Geeta-Sudha  
5) None of these  
  
20. Which of the following groups has the first person 
sitting between the other two? 
1) Meeta-Ashwini-Geeta  
2) Sudha-Rani-Geeta 
3) Mukta-Priya-Rani  
4) Mukta-Priya-Sudha 
5) None of these 
 
21. Which of the following is the correct position of Rani 
with respect to Mukta? 
I. Third to the right   
II. Third to the left 
III. Fourth to the left   
IV. Fourth to the right 
 
1) I only    
2) II only   
3) Both I & II   
4) Both II & IV  
5) Both I & III 
 
Directions (Q. 22-26): Study the following information 
carefully to answer these questions. 
A, B, C, D, E, F, G and H are sitting around a circle, facing 
the centre. F sits to the immediate right of D and third to 
the left of A. G sits third to the left of D who does not sit 
next to E. B sits next to G but not next to D. C does not sit 
next to either D or A. 
22. Who sits to the immediate left of A? 
1) E   
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2) F  
3) G   
4) H  
5) None of these 
 
23.What is the position of H with respect to C? 
1) Second to the left   
2) First to the right 
3) Third to the right   
4) Second to the right 
5) None of these 
 
24. Which of the following pairs sits between G and D? 
1) AC  
2) DF  
3) HB   
4) FA  
5) None of these 
 
25. Starting from A’s position, if all the eight are 
arranged in alphabetical order in clockwise direction, the 
seating position of which of the following (excluding A) 
would not change? 
1) B   
2) C  
3) D   
4) H  
5) None of these 
 
26. Four of the following are alike based upon their 
seating arrangement around the circle. Which is the one 
that does not belong to that group? 
1) FH   
2) GE  
3) CD   
4) BG  
5) EF 
 
Directions (Q. 27-31): Study the following information 
carefully to answer these questions. 
M,D, P, K, R, T and W are sitting around a circle facing the 
centre. D is second to the right of P, who is third to the 
right of K. T is third to the right of W, who is not an 
immediate neighbour of D. M is third to the left of R. 
27. Who is second to the right of T? 
1) D   
2) K  
3) M   
4) Data inadequate  
5) None of these 

 
28. In which of the following pairs is the second person 
sitting to the immediate right of the first person? 
1) DT   
2) TP  
3) PR  
4) KW  
5) None of these 
 
29. Who is on the immediate left of R? 
1) W   
2) P  
3) K   
4) T  
5) None of these 
 
30. Who is on the immediate left of M? 
1) K   
2) W  
3)    
4) T  
5) None of these 
 
31. Who is third to the left of D? 
1) W   
2) P  
3) K   
4) Data inadequate 
5) None of these 
 
Moderate Level 

Bunty, Dev, Manav, Kavya, Payal, Qasturba, Wasir and 
Himmat are sitting around a circle facing at the centre. 
Manav is to the immediate right of Bunty who is 4th to 
the right of Kavya. Payal is 2nd to the left of Bunty and is 
4th to the right of Wasir. Qasturba is 2nd to the right of 
Dev who is 2nd to the right of Himmat. 
1. Who is 3rd to the right of Bunty? 
a) Wasir  
b) Manav  
c) Kavya 
d) Himmat   
e) None of these 
 
2. Which of the following represents the immediate 
neighbours of D? 
a) Payal and Qasturba 
b) Kavya and Himmat 
c) Payal and Himma 
d) Kavya and Qasturba 
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e) Payal and Kavya 
 
3. Who is 3rd to the right of Wasir? 
a) Payal   
b) Dev  
c) Kavya  
d) Qasturba 
e) Data inadequate 
 
4. Who is 2nd to the left of Payal? 
a) Dev   
b) Himmat   
c) Kavya 
d) Data inadequate 
e) None of these 
 
5. Who is to the immediate left of Bunty? 
a) Qasturba   
b) Payal   
c) Wasir 
d) Data inadequate 
e) None of these 
 
2. Amrit, Bector, Chinky, Deepinder, Eeshwar, Fancy, 
Gurkamal and Hero are sitting around a circle facing the 
centre. Fancy is third to the right of Chinky and second to 
the left of Hero. Deepinder is not an immediate neighbor 
of Chinky or Hero. Eeshwar is to the immediate right of 
Amrit, who is second to the right of Gurkamal. 
1. Who is second to the left of Chinky? 
a) Amrit  
b) Bector  
c) Eeshwar 
d) Deepinder  
e) None of these 
 
2. Who is to the immediate right of Chinky? 
a) Amrit  
b) Bector  
c) Deepinder 
d) Bector or Deepinder 
e) None of these 
 
3. Which of the following pairs of persons has first 
person sitting to the right of the second person? 
a) Chinky and Bector 
b) Amrit and Eeshwar 
c) Fancy and Gurkamal 
d) Hero and Amrit 
e) Deepinder and Bector 

4. Who sits between Gurkamal and Deepinder 
a) Hero   
b) Deepinder  
c) Fancy 
d) Eeshwar 
e) None of these 
 
5. Which of the following is the correct position of Bector 
with respect to Hero? 
I. Second to the right 
II. Fourth to the right 
III. Fourth to the left 
IV. Second to the left 
 
a) Only I b) Only II c) Only III 
d) Both II and III e) None of these 
 
3. Akshay, Manisha, Deepak, Paresh, Ranbir, Tarun, 
Bector and Hrithik are sitting around a circle facing at 
the centre. Manisha is 3rd to the left of Akshay who is 
2nd to the left of Tarun. Deepak is 2nd to the right of 
Hrithik who 2nd to the right of Tarun is. Ranbir is 2nd to 
the right of Bector who an immediate neighbour of 
Tarun is not. 
1. Which of the following combinations represents the 
first and the second to the left of Bector respectively? 
a) Manisha and Deepak 
b) Deepak and Hrithik 
c) Akshay and Manisha 
d) Akshay and Ranbir 
e) Deepak and Manisha 
2. Who is 3rd to the right of Tarun? 
a) Deepak  
b) Bector  
c) Hrithik 
d) Manisha  
e) None of these 
 
3. Who is to the immediate left of Hrithik? 
a) Paresh  
b) Manisha  
c) Tarun 
d) Ranbir  
e) Data inadequate 
 
4. Who is 2nd to the left of Bector? 
a) Deepak  
b) Hrithik  
c) Manisha 
d) Data inadequate  
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e) None of these 
 
5. In which of the following combinations 3rd person is 
2nd to the left of 2nd person? 
a) Bector, Akshay, Ranbir 
b) Deepak, Bector, Mansiha 
c) Tarun, Paresh, Hrithik  
d) Paresh, Manisha, Hrithik 
e) None of these 
 
4. Eight friends A, B, C, D, E, F, G and H are sitting in a 
circle, but not necessarily in the same order. Four of 
them are facing outside and four of them are facing the 
centre. E faces outside, Both the immediate neighbours 
of E face the centre. H sits second to the right of E. B sits 
third to the left of E. D faces the centre. Both the 
immediate neighbor of D face outside. G sits second to 
the left of A. B sits third to the right of H. F is an 
immediate neighbor of D.C is an immediate neighbour of 
G. D is not an immediate neighbour of B. 
1. Who amongst the following sits on the immediate 
right of H? 
1) A    
2) D   
3) C 
4) G   
5) None of these 
 
2. Who amongst the following sits third to the right of A? 
1) D   
2) E   
3) F 
4) A   
5) None of these 
 
3. Four of the following five are alike in a certain way, 
based on the information given above and so form a 
group. Which is the one that does not belong to that 
group? 
1) HA   
2) FH   
3) GC 
4) DA   
5) AE 
 
4. If all the people are made to sit in an alphabetical 
order,in clockwise direction, starting from A, the position 
of whom amongst the following remains the same 
(excluding A)? 
1) E   

2) F   
3) C 
4) G   
5) None of these 
 
5. How many people are seated between A and C 
(counting clockwise from A)? 
1) Two   
2) Four   
3) None 
4) One  
5) Three 
 
6. Who amongst the following sits exactly between F and 
C (and is also their neighbour)? 
1) E   
2) B   
3) G 
4) A   
5) None of these 
5. Eight friends A, B, C, D, E, F, G and H are sitting in a 
circle, but not necessarily in the same order. Four of 
them are facing outside and four of them are facing the 
centre. E faces outside, both the immediate neighbours of 
E face the centre. H sits second to the right of E. B sits 
third to the left of E. D faces the centre. Both the 
immediate neighbours of D face outside. G sits second to 
the left of A B sits third to the right of H.F is an 
immediate neighbour of D. C is an immediate neighbour 
of G. D is not an immediate neighbour of B 
 
1: Who sits to the immediate right of E.? 
a) A       
b) B      
c) C      
d) D     
e) E 
 
2: Who sits to the immediate left of H.? 
a) A       
b) B      
c) C      
d) D     
e) E 
 
3: Who sits to the immediate right of F.? 
a) A       
b) B      
c) C      
d) D     



  

 
Copyright © All Rights Reserved | https://www.spardha.guru 

spardhaguru2022 Spardhaguru Current affairs 

SpardhaGuru Spardha.guru 

Spardhaguru1 
www.spardha.guru 

PUZZLES 

Page | 16 

e) E 
 
4: Who sits diagonally opposite of B.? 
a) A       
b) B      
c) C      
d) D     
e) E 
 
5: Who sits diagonally opposite of E.? 
a) A   
b) B   
c) C   
d) D   
e) E 
 
6: Which of the following is odd man out? 
a) H   
b) E   
c) F   
d) D   
e) N O T 
 

Line Arrangement 
1. B C D E are right of A but B is the immediate right of A. 
D C B A are left of E but only D is to the immediate left of 
E. C D E are of B but only C is to the immediate right of B. 
C B A are left of D but only C is to the immediate left of D. 
D and E are right of C but only D is to the immediate right 
of C.B and A are left of C but only B is the immediate left 
of C. A is the immediate left of B While E to the 
immediate right of D. 
 
2. There are five houses P Q R S and T. P is right of Q and 
T is left of R and Right of P.Q is right of S. Which house is 
in the middle? 
a) P  
b) Q   
c) T  
d) R 
 
3. Six Friends A B C D E and F are sitting in a row facing 
towards North. C is sitting between A and E. D is not at 
the end, B sitting at immediate right of E. F is not at the 
right end, but D is sitting at 3rd left of E. Which of the 
following is sitting to the left of D? 
a)  A  
b) F  

c) E  
d) C 
 
4. Seven Children A B C D E F and G are standing in a row. 
G is to the right of D and to the left of B. A is on the right 
of C. A and D have one child between them. E and B have 
two children between them. D and F have also two 
children between them. Who is exactly in the middle? 
a)  A  
b) G  
c) E  
d) C 
 
5. Six girls A B K D E and P are standing in a row. B is 
between D and P. A does not stand next to either P or D. 
K does not stand next to D. E stands between A and K. 
P stands between 
a)  B and K   
b) E and A  
c) D and B 
d) A and K   
e) cannot be determined 
 
Who occupy the extreme ends of the row? 
a) B and E   
b) E and D  
c) D and A 
d) A and P   
e) none of these 
 
K stands between 
a) B and P   
b) P and D  
c) P and E 
d) A and E  
e) none of these 
 
6. Eight members P Q R S T V H and L are sitting in two 
rows with equal number of members in each row. 
Members of one row are facing North and those in the 
other row are facing South. Each member in one row is 
sitting exactly opposite to a member in the other row. 
P sits in the row facing North, to the immediate right of H 
who is exactly opposite of R. L is to the immediate right 
of R and S is exactly opposite of T who is to the 
immediate right of P. V does not sit at any of the ends of 
any row. 
Which of the following members sit at the ends of the 
same tow? 
a) TH  
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b) SR  
c) LQ  
d) LT  
e) none of these  
 
Who sits opposite of P? 
a)  L  
b) Q  
c) V  
d) C  
e) none of these 
   
7. Five boys are standing in a row facing East. Pavan is to 
the left of Tavan, Vipin, Chavan. Tavan, Vipin, and Chavan 
are to the left of Nakul. Chavan is between Tavan and 
Vipin. If Vipin is fourth from left, then how far is Tavan 
from the right?  
a) First    
b) Second   
c) Third          
d) Fourth 
 
8. Ten students A B C D E F G H I and J are sitting in a row 
facing east. B and F are not sitting on either of the edges. 
G is sitting to the left of D and H is sitting to the right of J. 
There are four Persons between E and A. I is to the left of 
B and F is to the right of D. J is in between A and D and G 
is in between E and F. There are two people between H 
and C. 
Who is sitting at the seventh place counting from left? 
a) H  
b) C   
c) J  
d) Either H or C  
 
9. Six people K L M N O P live on six different floors of a 

building not necessarily in the same order. The lower 

most floor of the building is numbered 1, the one above 

is numbered 2 and so on till the top most floor numbered 

6. L lives on an even numbered floor. L lives immediately 

below K’s floor and immediately above M’s floor. P lives 

immediately above N’s floor. P lives on an even 

numbered floor. O does not live on floor Numbered 4 

Who amongst the following live on floor number 2? 
a)  K 
b) P  
c) L  
d) M   
e) O 

 
10) Twelve cars viz Mercedes, Swift, Santro, Accord, 
Innova, Polo, Punto, Figo, Civic, City, Ferrari and 
Landrover are parked in two parallel rows containing six 
cars each,, in such a way that there is an equal distance 
between adjacent cars. The cars parked in row are 
parked in such a manner that the driver seated in the 
cars would face the South. In row-2, cars are parked in 
such a manner that the drivers seated in these car would 
face the North. Therefore, in the given parking 
arrangement each car parked in row faces another car of 
the other row.  
 
(i) Mercedes being a big car must be parked at one of the 
extreme ends. Mercedes is parked second to the left of 
Santro. Santro faces Figo.  
(ii) Punto and Innova are parked immediately next to 
each other. Neither is parked next to Figo or Santro.  
(iii) Civic is parked in such manner that its driver when 
seated in the parked car would face South. Civic is 
parked third to the left of Polo.  
(iv) City is parked in such a manner that it faces Ferrari. 
Ferrari is parked second to the left of Landrover. 
Landrover faces North and is not parked next to Figo.  
(v)Swift is parked third to the right of Ferrari and faces 
Innova (Note Left and right parking directions are with 
reference to the driver as if the driver is seated in the 
car.) 
Which of the following cars faces Polo? 
a)  Mercedes  
b) Civic   
c) Landrover 
d) Punto  
e) Accord 
 
11.Twelve people are sitting in two parallel rows 
containing six people each such that they are equidistant 
from each other. In row 1: P, Q, R, S, T and V are seated 
and all of them are facing South. In row 2: A, B, C, D, E 
and F are seated and all of them are facing North. 
Therefore, in the given seating arrangement, each 
member seated in a row faces another member of the 
row. 
S sits third to the right of Q, either S or Q sits at an 

extreme end of the line. The one who faces Q sits second 

to the right of E. Two people sit between B and F, neither 

B nor F sits a extreme end of the line. The immediate 

neighbour of B faces the person who sits third to the left 

of P. R and T are immediate neighbours. C sits second to 
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the left of A. T does not face the immediate neighbour of 

D. 

1. Who amongst sit at the extreme ends of the rows? 
(a) S, D   
(b) Q A    
(c) V, C  
(d) P, D   
(e) Q F 
 
2. Who amongst the following faces S? 
(a) A    
(b) B    
(c) C  
(d) D    
(e) F 
 
3. How many persons are seated between V and R? 
(a) one    
(b) two    
(c) three  
(d) four   
(e) None of these 
 
4. P is related to A in the same way as S is related to B 
based on the given arrangement. Which of the following 
is T related to, following the same pattern? 
(a) C    
(b) D   
(c) E  
(d) F b   
(e) Cannot be determined 
 
5. Which of the following is true regarding T? 
(a) F faces T 
(b) V is an immediate neighbor of T 
(c) F faces the one who is second to the right of T 
(d) T sits at one of the extreme ends of the line. 
(e) Q sits second to the right of T 
 
6. Four of the following five are alike in a certain way 
based on the given arrangement and so form a group. 
Which is the one that does not belong to that group. 
(a) A-T    
(b) B-T    
(c) F-P  
(d) C-V    
(e) E-Q 
 
12. Twelve people are sitting in two parallel rows 

containing six people each such that they are equidistant 
from each other. In row 1, Anika, Bianca, Catlyn, Dhruv, 
Esha and Feroj are sitting facing South. In row 2, Parul, 
Qadir, Rudra, Saumya, Tanuj and Vikram are sitting 
facing North. Therefore, in the given seating 
arrangement, each member sitting in a row faces another 
member of the other row.  
Three people sit between Catlyn and Dhruv. Either 
Catlyn or Dhruv sits at an extreme end of the line. The 
one who faces Dhruv sits third to the left of Rudra. 
Saumya faces the one who sits third to the left of Anika 
and he cannot sit adjacent to Rudra. The immediate 
neighbour of Qadir faces the immediate neighbour of 
Anika. Only one person sits between Parul and Tanuj, 
who is facing the one sitting on the immediate right of 
Esha. Neither Esha nor Feroj faces Rudra. Vikram and 
Qadir cannot sit adjacent to each other. 
1. Who among the following faces Bianca? 
(a) Parul   
(b) Qadir   
(c) Tanuj 
(d) Rudra   
(e) Saumya 
 
2. Who among sit at the extreme ends of the rows? 
(a) Dhruv, Qadir   
(b) Tanuj, Feroj   
(c) Esha, Saumya  
(d) Bianca, Tanuj  
(e) Feroj, Qadir 
 
3. If Esha is related to Parul in the same way as Catlyn is 
related to Saumya, which of the following is Anika 
related to  following the same pattern? 
(a) Vikram   
(b) Rudra   
(c) Qadir  
(d) Tanuj   
(e) Can’t be determined 
 
4. How many persons are sitting between Esha and 
Feroj? 
(a) None   
(b) One   
(c) Two  
(d) Three   
(e) Four 
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5. Four of the following five are alike in a certain way 
based on the given arrangement and so form a group. 
Which is the one that does not belong to that group? 
(a) Parul–Dhruv   
(b) Qadir–Anika 
(c) Qadir–Feroj   
(d) Saumya–Bianca 
(e) Tanuj– Anika 
 
6. Which of the following is true regarding Parul? 
(a) Qadir is an immediate neighbour of Parul. 
(b) Parul faces the immediate neighbour of Bianca. 
(c) Parul sits second from the left end of the row. 
(d) Parul sits at one of the extreme ends. 
(e) Parul faces who is second from the right end of the 
row. 
 

Blood Relation with circular arrangement 

1. In a family 8 persons A to H are sitting around 

circular table. Facing the circle but not necessarily in 

the same order. They arrangement is as follows. 

 

• D’s father is sitting 2nd to the left of his nephew. 

• B is the Son of F. Who is the 2nd right of her Son. 

• D is the father of G. And 2 persons sit b/w G & E. D’s 

wife is Opp to E. 

• E’s brother, B is the immediate neibour of C’s Son. B 

is the father of H. no male is adjacent of C. 

• F is the sister of C and C is not sitting 2nd to the right 

of B. 

 

2. P, Q, R, S, T, U, V & W are sitting around a circular 

table facing centre. But not necessarily in the same 

order. The husband of V is 2nd to the right of Q. Who 

sits b/w two males. T sits 2nd to the left of the 

daughter of S. T is sister of U, but is not the 

immediate neighbour of V’s husband. Only the 

person sits b/w P & T. P is the father of U. S Who is 

the brother of V sits on immediate left of his mother. 

Only person sits b/w V’s mother and W. Only are 

person sits b/w V and U. U is mother of R and is not 

immediate neighbour of W. 

 

3. A to H are sitting around circular table facing the 

centre but not necessary in the same order. 

• B sits 2nd to the left of H’s husband. No Female is an 

immediate neighbour of B. 

• D’s daughter sits 2nd to the right of F. F is the sister of 

G. F is not an immediate neighbour of H’s husband. 

• Only one sits b/w A & F. A is the father of G. H’s 

brother D sits to the immediate left of H’s mother. 

Only one person sits b/w H’s mother and E. 

• Only one person sits b/w H & G. G is the mother of C. 

G is not an immediate neighbour of E. 

 

Directions (Q no 14 to 18)  

The Mishra family went to the photographer for 

their family photograph. The photographer arranged 

them in a straight row facing the North. The family 

members were Anshu, Rama, Krishna, Deva and 

Sonu. 

 

• Anshu was sitting third to the right of his daughter. 

• Rama was sitting on the immediate right of 

Krishna, whose husband was the brother of Rama. 

• Anshu and Sonu were immediate neighbours. 

• Deva was not an immediate neighbour of Anshu’s 

son. 

• Deva was sitting at the left end and the mother of 

Deva is Krishna, who was the wife of Anshu. 

• Rama and Anshu were immediate neighbours. 

 

4. How is Deva related to the person who sits in the 

middle of the row? 

a) Brother 

b) Sister 

c) Daughter 

d) Son 

e) None of these ✓ 

 

5. How is Anshu related to the person who sits second 

to the left of Sonu? 

a) Mother 

b) Father 

c) Brother ✓ 

d) Sister 

e) None of these 
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6. If the positions of Rama and Sonu are interchanged, 

then who among the following sits on the immediate 

left of Sonu’s father? 

a) Krishna 

b) Deva 

c) Rama 

d) Sonu ✓ 

e) None of these 

 

7. How is Krishna related to Rama? 

a) Daughter 

b) Sister in law ✓ 

c) Sister 

d) Wife 

e) None of these 

 

8. What is the position of son of Krishna with respect to 

father of Deva? 

a) Immediate left 

b) Second to the left 

c) Immediate right ✓ 

d) Second to the right 

e) None of these 

 

Directions (Q No 19 to 23) 

A, B, C, D, E, F, G and H are sitting around a circle facing 

the centre but not necessarily in the same order. Each of 

them has a relationship with A. 

G is sitting second to the left of father of A. F is 

immediate neighbour of A. D, mother of A is sitting 

opposite to the sister of A. B is sitting to the immediate 

right of wife of A. E who is a male is sitting second to the 

right of mother of C. Brother of A is sitting third to right 

of B. Daughter of A is sitting to third to right of sister of 

A. A is sitting second to the right of daughter of E. E is 

sitting to the immediate left of sister of A. 

 

19. Who is the mother of H? 

a) F  

b) G   

c) C  

d) D✓   

e) None of these 

 

20. Who is the granddaughter of E? 

a) B  

b) C ✓   

c) D  

d) G  

e) None of these 

 

21. Who is sitting second to the right of F’ sister? 

a) wife of A   

b) brother of C 

c) daughter of A  

d) father of B ✓ 

e) None of these 

 

22. How many persons are sitting between A’s wife and 

D’s husband when counted from right of A’s wife? 

a) None  b) One ✓  c) Two 

d) Three e) More than three 

 

23. What is the position of G’s daughter with respect to 

D’s daughter? 

a) third to left 

b) second to left 

c) third to right ✓ 

d) second to right 

e) fourth to right 

 

Advance Level  

Directions (Q,1-5): Study the following information 
carefully answer the questions given below: 
A, B, C, D, E, F, G and H are eight employees of an 

organization working in three departments viz. 

Personnel, Administration, and marketing with not more 

than three of them in any department. Each of them has a 

different choice of sports from football, cricket, 

volleyball, badminton, lawn tennis, basketball, hockey, 

and table tennis not necessarily in the same order. 

D works in Administration and does not like either 

football or cricket. F works in Personnel with only A who 

likes table tennis. E and H do not work in the same 

department as D. C likes hockey and does not work in 

marketing. G does not work in administration and does 

not like either cricket or badminton. One of those who 

work in administration likes football. The one who likes 

volleyball works in personnel. None of those who work 

in administration likes either badminton or lawn tennis. 

H does not like cricket. 
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1. Which of the following groups of employees work in 

Administration department? 

(a) EGH  (b) AF       (c) BCD         

(d) BGD (e) Data inadequate 

 

2. In which department does E work? 

(a) Personnel           

(b) Marketing      

(c) Administration          

(d) Data inadequate   

(e) None of these  

 

3. Which of the following combinations of employee 

department favorite sport is correct? 

(a) E Administration-Cricket  
(b) F Personnel-Lawn Tennis  
(c) H Marketing-Lawn Tennis  
(d) B Administration-Table Tennis 
(e) None of these 
 

4. What is E’s favorite sport? 

(a) Cricket       

(b) Badminton      

(c) Basketball  

(d) Lawn Tennis       

(e) None of these 

 

5. What is G’s favorite sport? 

 (a) Cricket        (b) Badminton      (c) Basketball    

(d) Lawn Tennis      (e) None of these 

 

DIRECTIONS (Qs. 6-10) :  Study the following 

information carefully and answer the question given 

below : 

A, B, C, D, E, F,G,H and K are sitting around a circle facing 

the center. F is fourth to the right of A who is third to the 

right of B, K is fourth to the left of B and third to the right 

of D. C is third to the right of H. E is second to the left of 

G. 

 

6. Who is fourth to the left of G ? 

(a) C          

(b) A          

(c) D        

(d) K   

(e) Data inadequate 

7. What is E’s position with respect to B ? 

(a) Second to the left         

(b) Third to the right 

(c) Fourth to the right        

(d) Third to the left 

(e) Fifth to the right  

 

8. Who is third to the right of K ? 

(a) F         

(b) E       

(c) G       

(d) Data inadequate   

(e) None of these  

 

9. Who is to the immediate right of F ? 

(a) B        

(b) G         

(c) E        

(d) Data inadequate   

(e) None of these 

 

10. In which of the following combinations is the third 

person sitting between the first and the second persons? 

(a) GFB       

(b) BGH       

(c) ADC      

(d) KEC     

(e) EGF 

 

 

DIRTECTIONS (Qs. 11-12):  Read the following 

information carefully and answer the questions which 

follow: 

A, B, C, D, E and F live on different floors in the same 

building having six floors numbered one to six (the 

ground floor is numbered one, the floor above it is 

numbered two, and so on, and the topmost floor is 

numbered 6). A life on an even-numbered floor. There 

are two floors between the floors on which D and F live. 

F lives on a floor above D’s floor. D does not live on the 

floor numbered two. B does not live on an odd-

numbered floor. C does not live on any of the floors 

below F’s floor. E does not live on a floor immediately 

above or immediately below the floor on which B lives. 

 

11. Who amongst the following live on the floors exactly 

between D and F? 



  

 
Copyright © All Rights Reserved | https://www.spardha.guru 

spardhaguru2022 Spardhaguru Current affairs 

SpardhaGuru Spardha.guru 

Spardhaguru1 
www.spardha.guru 

PUZZLES 

Page | 22 

(a) E, B       

(b) C, B         

(c) F, C        

 (d) A, E  

(e) B, A 

 

12. On which of the following floors does B live?  
(a) 6th       
(b) 4th       
(c) 2nd      
(d) 5th     

(e) Cannot be determined 

DIRECTIONS (Qs. 13-14): Study the following 

information to answer the given questions: 

In a five letter English word (which may or may not be a 

meaningful English word), there are two letters between 

L and P. S is not placed immediately next to L. There is 

only one letter between S and A. S is towards the right of 

A. S is not placed immediately towards the right of A. S is 

not placed immediately next to E. 

 

13. Which of the following is correct with respect to the 

word thus formed? 

(a) E is at one of the extreme ends of the word. 

(b) P is not placed immediately next to A. 

(c) There are two letters between A and E in the word 

thus formed. 

(d) P is placed second to the right of E. 

(e) None is correct 

 

14. Which of the following words will be formed based 

on the given conditions?  

(a) SPAEL       

(b) PEALS       

(c) LEAPS        

(d) SEPAL   

(e) LAPSE 

 

DIRECTIONS (Qs.15-19): Study the following 

information carefully and answer the given question. 

Representative from eight different Banks viz. A, B, C, D, 

E, F, G and H are sitting around a circular table facing the 

center but not necessarily in the same order. Each one of 

them is from a different bank viz. UCO Bank, Oriental 

Bank of Commerce, Bank of Maharashtra, Canara Bank, 

Syndicate bank, Punjab National Bank, Bank of India, and 

Dena Bank. 

 F sits second to right of the representative from Canara 

bank. Representative from Bank of India is an immediate 

neighbor of the representative from Canara Bank. Two 

people sit between the representative of Bank of India 

and B, C and E are immediate neighbor of each other. 

Neither C or E is an immediate neighbor of either B or 

the representative from Canara Bank. Representative 

from Bank of Maharashtra sits second to right of D. D is 

neither the representative from UCO Bank is immediate 

neighbor of each other. B is not the representative of 

UCO Bank. Only one person sits between C and the 

representative from Oriental Bank of Commerce. 

 H sits third to left of the representative from Dena Bank. 

Representative from Punjab National Bank sits second to 

left of the representative from Syndicate Bank. 

15. Who amongst the following sit exactly between B and 

the representative from Bank of India? 

(a) A  the representative from UCO Bank 

(b) F and G 

(c) H and the representative from Bank of Maharashtra 

(d) H and G 

(e) Representative from Syndicate Bank and Oriental 

Bank of commerce 

 

16. Who amongst the following is the representative 

from Oriental Bank of Commerce? 

(a) A       

(b) C        

(c) H         

(d) G        

(e) D 

 

17. Four of the following five are a like in a certain way 

based on the given arrangement and thus from a group. 

Which is the one that does not belong to that group? 

(a) H-UCO Bank  

(b) A-Canara Bank   

(c) D-Bank of Maharashtra   

(d) E-Syndicate Bank  

(e) F-Punjab National Bank 

 

18. Who amongst the following sits second to left of B  

(a) C  (b) H    

(c) The representative from Canara Bank   

(d) The representative from Punjab national Bank (e) G 
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19. Which of the following is true with respect to the 

given seating arrangements? 

(a) B is the representative from Bank of Maharashtra. 

(b) C sits second to right of H. 

(c) The representative from Dena Bank sits to the 

immediate left of the representative from UCO Bank. 

(d) A sits second to right of the representative from Bank 

of India. 

(e) The representatives from Bank of Maharashtra and 

Syndicate Bank are immediate neighbors of each other. 

 
 

DIRECTIONS (Qs. 20-24): Study the following 

information carefully and answer the question given 

below : 

P, Q, R, S, T, U, V, W and Z are travelling to three 

destinations Delhi, Chennai and Hyderabad in three 

different vehicles – Honda City, Swift Dzire and Ford 

Icon. There are three females among them one in each 

car. There are at least two persons in each car. 

R is not travelling with Q and W. T, a male, is travelling 

with only Z and they are not travelling to Chennai. P is 

travelling in Honda City to Hyderabad. S is sister of P and 

travels by Ford Icon. V and R travel together. W does not 

travel to Chennai. 

 

20. Who is travelling with W? 
(a) Only Q          
 (b) Only P  
(c) Both P and Q        
(d) Cannot be determined   
(e) None of these 
 

21. Members in which of the following combinations are 

travelling in Honda City ? 

(a) PRS        

(b) PQW        

(c) PWS    

(d) Data inadequate      

(e) None of these 

 

22. In Which car are four members travelling? 

(a) None      

(b) Honda City        

(c) Swift D’zire 

(d) Ford Icon       

(e) Honda City or Ford Icon 

23. Which of the following combination represents the 

three female members? 

(a) QSZ       

(b) WSZ      

(c) PSZ                     

(d) Cannot be determined  

(e) None of these  

 

24. Members in which car are travelling to Chennai? 

(a) Honda City     

(b) Swift D’Zire  

(c) Ford Icon       

(d) Either Swift D’Zire or Ford Icon   

(e) None of these 

 
DIRECTIONS (Qs. 25-31) : Study the following 

information carefully and answer the given questions. 

Nine friends A, B, C, D, E, F, G, H and K are sitting around 

a circle facing the center, A sits second to left of D. K sits 

third to right of F. Neither K nor F is an immediate 

neighbor of F. 

 

25. What is the position of F with respect to the position 

of B?  

(a) Second to the right   

(b) Third to the left   

(c) Second to the left  

(d) Third to the right   

(e) Sixth to the right 

 

26. Who amongst the following is an immediate neighbor 

of H? 

(a) C       

(b) B       

(c) K      

(d) F       

(e) A 

 

27. Starting from A, if all the friends are made to sit in the 

alphabetical order in clockwise direction, the position of 

how many (except A) will remain unchanged? 

(a) None       

(b) One       

(c) Two   

(d) Three       

(e) Four 
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28. H is related to C and B is related to E in a certain way. 

To whom amongst the following is G related following 

the same pattern? 

(a) F      

(b) H        

(c) C         

(d) A        

(e) D 

 

29. What will come in place of the question mark ? DC DB 

DF DA 

(a) DG          

(b) DE         

(c) DH        

(d) DK 

 

30. Who sits third to the left of A? 

(a) DG       

(b)DE        

(c) DH     

(d) DK    

(e) Either DK or DE 

 

31. Which of the following pairs represents the 

immediate neighbors of C? 

(a) FH       

(b) AB       

(c) BD       

(d) EK         

(e) DF 

 

 

 


